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Which Numbers? (2) 

 
These numbers are in the blue 

set:  
26, 39, 65, 91,  

but there are others too. 

These numbers are in the 
black set:  

14, 17, 33, 38, 51, 57, 74, 79, 
94, 99, 

but there are others too. 

 
These numbers are in red set:  

12, 18, 30, 42, 66, 78, 84, 
but there are others too. 

 

These numbers are in just  
one of the sets:  

6,10, 15, 24, 33, 48, 56, 65, 
75, 93, 

but there are others too. 

 
These numbers are in two 

of the sets: 12, 13, 36, 54, 72, 
96, 

but there are others too. 
 

These numbers are not in  
any of the sets: 5, 8, 22, 27, 

44, 49,  
63, 68, 82, 86, 100,  

but there are others too. 

 
There are sixteen numbers  

altogether in the red set. 
 
 

 
There are fifty numbers  

altogether in the black set. 

 
There are seven numbers  
altogether in the blue set. 

 
 

 
There are 41 numbers 

altogether 
 that are not in any of the sets. 

 
The only number in all three  

of the sets is 78. 
 
 

 
There are twelve numbers  

altogether in two of the sets. 
 

 


